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The total unit sales matrix for three computer stores is
given by

Monitors Printers Computers Drives

The wnit pricing matrix in dollars for I:]-:e
three stores is  given by

Sore A Store B Store C

25 3 a5 12 Stoss A r =0 25 315 Maniter
S=| 20 12 30 15 |StoreB | W0 20 25 Printer
16 19 15 18 Shore C 400 £25 450 Computer
: | @ 95 T8 Drive
» Find the gross income matrix.
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Find the determinant. of the matrix using Gauss-Jordm elimination
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. Use Cramer’s rule to solve the system

|- 4y+5z= 3|,
bx +Tz=-1

Exem 3 Problom S

FI’-H' :|'L'I:L -.-l.,.l..-i.t.'r-'[‘rr-nt A

]
w -
- N
Wom W
I

2 [

@ Find Ha adjunct cdj (A)

Y Fuas ha detoruimeat det{A).

- |
e} Fiad e fafe A

Aliceh puops S &G 4o ho fronr of your Exam 3 Soluhonn




